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1T M X FEAYITIES) 6 0:44.61
2 =H RX Hdt 6 0:44.71
3 =Bk Kih NEsgE= 6 0:44.90
4 #FH K& ®RE 6 0:45.37
5 WX BEX R 6 0:45.49
6 WK —hk o)) 6 0:46.18
7 EBE EX £iR 6 0:46.27
8 FRE RBA R 6 0:46.42
9 FHix HE EJI 6 0:46.63
10 {#iE A NEsgE= 6 0:47.28
11 X% i R AR D @) 6 0:48.09
12 HO #& NEEZ 6 0:48.37
13 EBik BEX o) 6 0:49.29
14 {E<"K BEX HO 6 0:49.77
15 #E# ZX AR 6 0:50.18
16 M EH NEE= 6 0:50.20
17 B8 #K NEgE— 6 0:50.25
18 hiE BEA 2’ 6 0:50.82
19 JR7E B3 Pk =z 6 0:51.12
20 B K& NEsE— 6 0:51.90
21 PHE HiE Wep AR AR @) 6 0:52.44
22 %ME HM R AR @) 6 0:53.22
23 FHith K= R 6 0:59.14
24 & EWB [ A(#BA) 6 0:59.19
25 #K finiE A RAUIE) 6 0:59.42
26 /PDAROUE J\TF5 6 0:59.67
27 XE HX We#RAR LD O 6 1:00.67
28 M ES %R 6 1:02.54
29 FET EX i} 6 1:03.91
30 RE BE ] & A(f8#BH) 6 1:07.38
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Iz K& B $E 2 5 B =
1 Bl &E M-Wave({&EF&) 6 0:45.18
2 fEFE HB pIiES 6 0:45.98
3 =t ATt =257 6 0:46.01
4 i HIF E 6 0:46.67
5 xR E =B/ (EiFHE) 6 0:46.72
6 HH EBF Z£H 6 0:47.12
7 FE K 7k BH 6 0:47.55
8 XNl HBEIE i} 6 0:48.23
9 R |BEND NEZE— 6 0:50.45
10 A% 4T =B/ (EiFHE) 6 0:51.39
11 F&FHF & & 6 0:51.48
12 MR BE Z£H 6 0:52.07
13 EE fMhE £iR 6 0:52.14
14 AKX &HF &R 6 0:52.19
15 XiF 8BE A A(EKH) 6 0:52.86
16 HLR @ NEZE— 6 0:53.03
17 EE FEX =)l 6 0:55.09
18 HE ¥& E 6 0:57.09
19 WA #§4% M-Wave({FT B R EF) 6 0:58.07
20 Ik HE piES 6 1:03.06
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Iz K& B $E 2 5 B =
1 FiE B [F2EEEN 5 0:47.62
2 ¥H EBZ= =P 5 0:47.86
3 EH KX e 5 0:49.15
4 BB —F NEZE— 5 0:49.19
5 INE Ef o)) 5 0:49.46
6 dulR Fmk mE 5 0:50.03
7 FH 5% 7k BR 5 0:51.14
8 SH BA NEZE— 5 0:51.23
9 Rk EW NMEE= 5 0:52.37
10 /p#k K#A B HIREE 5 0:53.09
11 KH #XER LR AR D 5 0:55.53
12 BR =A NEZE— 5 0:57.84
13 HE FE M-Wave(Z5 H) 5 0:57.95
14 % A AR 5 0:58.13
15 {#H FE# 7k B3 5 1:05.51
16 W& KR A 5 1:07.52
17 IS EE mE 5 1:08.90
18 F& B mE 5 1:09.42
19 ® AR NEE= 5 1:11.24
20 THiI #Ek TRERAL 5 1:12.35
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g 45z K& R (24)) 4 2 5 B =
1 Hm ¥ =H/(FEER) 5 0:49.26
2 % =28 IR 5 0:49.97
3 SRR BT NEZE— 5 0:50.57
3 HAH BRY NEE= 5 0:50.57
5 Ak BE =) 5 0:51.29
6 X% 0¥ LR AR D @) 5 0:51.46
7 KE EH A 5 0:51.79
8 &H MWE b 5 0:51.96
9 RKH et LR AR D @) 5 0:53.11
10 HHF PE A 5 0:53.27
11 Bl NAT & 5 0:53.46
12 $E5 K NEZE— 5 0:53.48
13 FHif =Kk 2o 5 0:53.72
14 HHF FEH NEE= 5 0:53.91
15 ER0OED 7k BR 5 0:54.11
16 BiR X R 5 0:54.12
17 FXK B M-Wave(FFH) 5 0:54.23
18 HHE AL pIiES 5 0:54.26
19 & = e 5 0:54.99
20 #ifg &KEH NEE— 5 0:55.73
21 xR YA AR 5 0:55.85
22 ¥ FEA NEE= 5 0:56.02
23 HR EB M-Wave({+ B R E) 5 0:56.32
24 ¥E BE TRERAL 5 0:56.33
25 Jbi® #&F0 o)) 5 0:56.69
26 /MR IR NEE= 5 0:57.55
27 X B 7k B8 5 0:57.76
28 & L e 5 0:57.82
29 Fih MK [FaLizEN 5 0:59.58
30 &R Fi NEZE— 5 1:10.97
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1 R I NMEE= 4 0:49.21
2 BN RE IT==p ¥ ) 4 0:50.59
3 RHE XA Zgx 4 0:52.48
4 BT HEZN EJI 4 0:54.48
5 f{RiEk K& NEE= 4 0:55.43
6 IEk =HE A 4 0:56.20
7 NR RX o)) 4 0:56.46
8 HFH B} NEZE— 4 0:57.35
9 EE RE o)) 4 0:57.80
10 FFE BiE =)l 4 0:58.10
11 XZE #IK M-Wave(#5 ) 4 0:58.49
12 FN #EXK KMELR) 4 0:58.80
13 HO S£ & 4 1:00.53
14 MK KE M-Wave(Fg &R) 4 1:00.75
15 JRE KK o)) 4 1:03.60
16 {RE FEH REF 4 1:04.49
17 NI #h RE 4 1:14.64
18 TH X TimEAm 4 1:19.70
- BAE K REF 4 DNS
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1 SH# 58 e 4 0:50.75
2 fER &5 g 4 0:50.83
3 K ZE*” HO 4 0:50.88
4 S/t EE g 4 0:51.59
5 INE HEFE e 4 0:51.71
6 £E XA £iR 4 0:52.80
7 n&ﬁ T £H 4 0:53.48
8 JdtiE (R mE 4 0:53.58
9 EFE HYS 7k BR 4 0:54.12
10 /NE #WERE EJI 4 0:54.18
11 u[fe BAE 2x 4 0:55.40
12 INFE EE g 4 0:59.03
13 HHN =ZE AR 4 1:00.41
14 {REE fIZE [FZEEEN 4 1:04.95
15 X¥ Fx LR AR D @) 4 1:05.02
16 PH BTE LR AR D @) 4 1:05.36
17 /O EZE £H 4 1:09.14
18 Zgith #57E [FaLizEN 4 1:10.56
19 #E HIK =)l 4 1:15.94
20 &K EH TEmER A 4 1:16.90
21 INE EE &R 4 1:17.65
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g 45z K& R (24)) 4 8% B =
1 HEH FEh BHREE 3 0:54.69
2 =H #X e 3 0:56.12
3 R BEE NEE= 3 0:56.68
4 (REk th NEE= 3 0:56.83
5 =i @m— B HIREE 3 0:57.45
6 E# TAF REF 3 1:01.84
7 RE BRE A 3 1:02.39
8 rﬁﬁ! y Zgx 3 1:03.80
9 Fih K [FaLizEN 3 1:03.97
10 %E BX =) 3 1:05.22
1 RBR¥F ER M-Wave(XE &) 3 1:08.26
12 =R Hh&E =P 3 1:09.66
13 & EE 6] 2% A ($4188) 3 1:09.95
14 % Z=|H0 A 3 1:10.60
15 ZFHET B4 b 3 1:12.39
16 1&/:'* 2 IR 3 1:13.85
17 =ik Ktk A H 3 1:14.58
18 F& =M mE 3 1:16.73
19 ME HhE E 3 1:17.34
20 RO £2 7k BR 3 1:17.72
21 Rk NMEE= 3 1:21.01
22 HEH BE =)l 3 1:21.88
23 BH # ] & A(#4BR) 3 1:24.69
24 A & E 3 1:25.97
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2 BBl X4 R 3 0:54.97
3 B ALK ARV 3 0:55.13
4 W V& Jel 3 0:57.87
5 X #HiE 7k B 3 0:58.31
6 WE WHHE AR 3 1:02.31
17 &R BAE M-Wave({+ B R E) 3 1:03.26
8 HE FHF E 3 1:04.63
8 TEf Ftk £iR 3 1:04.63
10 ARZE &%y A 3 1:05.21
11 dt/|/ ¥E £iR 3 1:05.83
12 BXx &E £iR 3 1:06.65
13 KiI ELF =)l 3 1:08.39
14 ¥E FaR TimEAm 3 1:11.48
15 Ak =X FiES 3 1:12.37
16 HE X2 =)l 3 1:13.13
17 X% b= LR AR D @) 3 1:29.90
18 #HE Ui R 3 1:30.70
19 (& fAEFE 7k 8 3 2:15.20
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4 TH AR b 2 1:14.30
5 INE XH €iR 2 1:15.18
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7 FH EKR £iR 2 1:18.81
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6 R =B =) 2 1:09.84
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9 BT B =)l 1 1:35.15
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14 FH 5% 7k BR 5 2:34.10
15 #7E &3} s 6 2:37.72
16 ZFEHET X b 6 2:37.78
17 HE X NEE— 6 2:37.83
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5 FH AR b 2 0:43.28
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8 XAH =& AR 2 0:44.56
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16. 14 8F 300m

g 45z K& R (24)) 4 8%
1 KM X EJI 1 0:41.83
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14 FY B mE 5 2:28.89
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18 BlF NAT R 5 1:53.51
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15 HWHN =ZE AR 4 2:09.84
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